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QUESTION 1

Assuming that the value of Fl is 12 as it enters the decode statement, which of the following decode statements will
produce the value V? Choose 2 answers

A. DECODE(F1,

12.°%°,
13, 'M',
14, 'N’,
‘R’
)

8. DECODE(F1,
Fi1=12, ",
F1=13, 'M',
F1=14, 'N',
‘R
)

C. DECODE(TRUE,
F1=12, 'Y,
F1=13, 'M’,
F1=14,'N',
‘R

D. DECODE(TRUE,

220,
13, 'M’,
14; lNlr
IRI
)

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: AC

QUESTION 2
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What function could be used to exchange \Wi\\' with WI\\' in the COMPANY port given the following expression?
functionname{l, COMPANY, \Vi\\' , \WI\\')

A. CHOOSE

B. REPLACECHR
C. REG_REPLACE
D. INSTR

Correct Answer: B

QUESTION 3

Using the Properties view of a Session task from the Workflow Monitor, the reason for a session\\'s failure can possibly
be determined?

A. True
B. False

Correct Answer: A

QUESTION 4

The user creates a mapping by using aggregator transformation. The aggregator transformation receives sorted input
from sorted transformation. What is the dafault partition type for aggregator transformation?

A. Pass-through

B. Hash auto-keys

C. Not a valid partition points

D. Based on the transformation scope

Correct Answer: B

QUESTION 5
Please choose one of the following. In a static, non-multi-row lookup,

A. If a lookup search does not find a value in the search data, then the row from which the search is produced is
dropped so a balanced pipeline can be produced

B. If a lookup search finds the search value in the lookup data but discovers that the fields that are being returned from
the search are null, then the row from which the search is produced is dropped so that a balanced pipeline can be
produced

C. If the lookup finds two records that match the search key, it will return two records
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D. None of the above

Correct Answer: D
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